
Plastic rod w/ charge  20µCpQ = −

Glass rod w/ charge  30µCgQ = +

Rub them together, 
then find that plastic rod still has  5µCpQ ʹ′ = −

What’s  gQ ʹ′ ?  (answer in µC)  

net 10µCp gQ Q Q= + = +

net 15µCg pQ Q Qʹ′ ʹ′= − =



#1 
#2 

mass m1 = 40 g 
charge Q1 = +20 µC  

mass m2 = 8 g 
charge Q2 = +32 µC  

Separation d = 10 cm 
What is the force on ball #1? 
(answer in N, positive means to the right)  
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TO THE LEFT! 

What is the force on ball #2?  
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Four small charged objects are in a square.  L = 1m and q 
= 1mC.  What force does the upper right object feel? 
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Two charged balls hang from strings of length L from a 
common hanging point.  They have the same mass m and the 
same charge q.  How far apart are they (in equilibrium)?  
Give the answer as an equation for x. 
(HINT: Use the small angle approximation                            ) 
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